11+ Maths

Standard Practice Paper
Pack Two 11D

Fill in your details:

(DY =30} il o 11 s o o TPt S

Male [] Female []

Read these instructions before you start:

¢ You have 50 minutes to complete this paper.

e There are 50, questions in this papenand each question is worth one mark.

e Show all working using the space around the questions. You may receive marks
for correct'working even if yournfinal answer is wrong.

e Make sure you write the answers very clearly.

e You will not lose marks<or crossing out.

e \Work as quickly and-carefully as you can.

e |fyou find a question difficult, do NOT spend too much time on it but move on
to the next one.

e Calculaters and protractors are not allowed.
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1 Write these prices in order, starting with the highest.

£3.08 38p £3.80 £3.09 £0.99 £2.99

Answer:

2 Liam has a packet of marbles: 3 red, 4 blue and 5 yellow. What is the probability of
picking a blue marble? Give your answer as a fraction.

Answer:

What percenta,

4 Charlie thinks of a nu
answer is 51. What numb

it by 6 and then adds 9 to the result. His

Calculate 15—2 of 1

Answer:

6 Richard rides his bike to his school every morning because his school is only 2 miles
away. His average cycling speed is 6miles/hour. How long does it take him to get to
his school every morning?

Answer:

1 of 10
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7 m stands for a number. Write the expression of 6 more than half m.
Answer:
8 The table below shows the number of red and green apples in bag A and bag B. Tom

chooses an apple from each bag without looking. From which bag i ore likely to

choose green apples?

red apples | green apples

bag A 4 6
bag B 3 9
Answer:

shows the age of the

w
o 14 . .
E 12 a swimming club. How
£ many swimmers are aged 20 or
wn
G younger?
b
o)
IS
S 4
=2
Answer:

rs are odd numbers. Is this statement TRUE or FALSE?

Answer:

2 of 10
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11

Lisa drew a quadrilateral. It has 4 equal sides and two acute angles. What shape did
she draw?

Answer:

12

Which two decimals have a difference of 0.47
0.25 0.75 1.05 0.70 1.15

Answer:

13

ich weigh 600¢g in
ether weigh the
ble A weighs one third
h does Marble B weigh?

Write all the between 1 and 20.

a fraction. Give your answer in the simplest term.

Answer:

3 0of 10
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16

Seventy two students took a prediction survey about
who would win the chess game. How many students

Alext jaek predicted Alex would win?

Jim

307\

Richard

Answer:

17

Round 6% to the nearest whole number.

Answer:

18

A4 size envelops are sold in a pack of 20. Jo
packs does he have to buy?

eeds 116 A4 size envelops. How many

Answer:

19

20

Inside the triangle, there is a square. Calculate the
size of angle x in the diagram.

Answer:

Not to scale

4 of 10
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21 Recipe
200m! of milk

1kg of flour

4 tea spoons of sugar

Amy uses this recipe to make a cake. How many tea spoons of sugar does she
need if she uses 750¢g of flour?

Answer:

22 There are 32 children in the class. Fach needs«2 r for a school trip.
Bottles of water are sold in packs of 12. How bought?

Answer:
23 Jack, Patrick and Richard . Ri ished 2 seconds before Patrick.
Jack finished 3 seconds ick. ard’s time was 12 seconds. What was Jack’s

time in seconds?

ha altogether. Kate gave 20p to Amy so that both have the
w much money did Amy have at the start?

25 Work out 0.4 x 0.25

Answer:

5 of 10
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20 Tan scored 57 out 60 in a Non-Verbal Reasoning practice test. What percentage did
he score?
Answer:

27 The cost for taking a taxi is £1.20 per mile. Four people take a o the airport

which is 20 miles away. They share the cost equally. How m of them

pay?
Answer:
28 < ~ Jonathan has a rated apple juice in it.
200mlfF— The level of the ju the diagram. He adds
— 0.12] of in thejug ilute the apple juice. What
— Draw a line to show your
100mlf—
29 Calculate 0.

Tom bought muflins and one mug of hot chocolate. He paid £4.20. Charlie bought

one mug of hot chocolate. He paid £2.70. Work out the cost of hot

Answer:

6 of 10
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y4 Here is a rectangle on x and y axes. Calculate
the perimeter of this rectangle.
A—3 B
2_
1_
| L1 >
2[10[ 1 2 3[4 X
D L C Answer:

32

Find a number which fits all of the following three statements:

It is a multiple of 3.
It is a multiple of 4.
It is bigger than 40 and smaller than 50.

Answer:

33

st One Half Price. Amy
3.60. How much does she

A book shop has a promotion: B
wants to buy three books which
need to pay if she buys all thr

Answer:

34

How many vertices

e concert tickets for a charity. For each ticket sold, £1.50 is given to
the charity got £30, how many tickets were sold?

Answer:

7 of 10
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360 How many quarters are there in 127

Answer:

37 A
. This graph shows the temperature of a winter
b morning in London. Use thi find the
(]
5 range of the temperature.
IS
i
oL L L] . Answer:
%am 6am 8am 10am 12am =
Time
38 Round 349.578 to the nearest whole number.
Answer:
39 Granny needs 1.2kg of pot ish. She has 400g of potatoes already on

e grams of potatoes need to be added to the scale?

40

Two strides have the same length as three footballs.
How many footballs will have the same length as one
hundred strides.

Answer:

8 of 10
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41 What is 30% of 1407
Answer:

42 Round 3.0564 to 2 decimal places.
Answer:

43 A
PQST is a rectz S with coordinates
p—2 T (-1.5, 2) insi angle ide?
2_
1_
| L1 -
2 1o 1 2B 4 X
-1
2
Q3 S
44 Mike is y years old. His unger than him. How old will his sister be

in 10 years’ time?

45 th rest hundredth.

A

46 3a—4=a+7
Work out the value of a.

Answer:

9 of 10



Maths Standard Pack Two 11D

© Moon Tuition
www.moontuition.co.uk

The diagram shows the rectangle ABCD which has

Not to scale
47 the same length as 4 circles. If BC=32c¢m, calculate
m the radius of the circle.
A D
B C
< = Answer:
32cm
48 06:15 | Music
07:00 | News

07:20 | Weather Report
07:30 | Sports News

The table above shows the radio progré

the radio at 06:52. How long does he have to rts News?

Answer:

49

If Tom swims for n minu
including weeke

many hours does he swim for one week

50

e be

hows the prices of two items. Work out the price of the dining table.

Price

ining Table

£400

Dining Table and Chairs

£200

Sofa and Chairs

£300

Answer:

10 of 10





